2L -MF

7L —B :2024508R108 ~ 20245088178 BELAR—I 1.2.3.4.56.7.8.9. 1.2.3.4.5.6.7.8.9.
BEAR S TINRUT N—X2THw k ouT CEEIE S ST T I N ¥k % % % %
ERRHD Bt 36 Z 36
[ E % uT [N GROSS | HDCP [ NET [ IE{: E _# ouT IN GROSS | HDCP NET || IEfL R 0uT IN | GROSS | HDCP NET
1|25 f— 37 39 76 8.4 | 67.6 51 |Ez#tx 39 46 85 | 132 | 71.81 101 [BIIEKA 39 39 78 48| 732
2 D Bz 35 38 73 48| 682 52 MR ERE L{ERE 48 43 91 | 19.2 | 71.8 | 102 [sh) s 37 41 78 4.8 | 732
3 |BiE #® 43 41 84 | 156 | 68.4 53 |4 k3R 49 48 97 | 25.2 | T71.81| 103 [WLinEE] 36 42 78 4.8 732
4 |ZBECA 40 42 82| 13.2| 688 54 | mEsE 46 38 84 | 120 | 720 104 |MiBERL= 44 40 84 | 10.8| 732
5 |[XTFT ER 39 42 81| 120 690 b5 |#AfEHZ 42 42 84 | 120 720 105 |mE = 45 39 84 | 10.8| 732
M- 40 47 87 | 18.0| 69.0 56 |EAE H 40 44 84 | 120 | 720 106 |/#sE 45 45 9 | 16.8| 73.2
7 |EABX 38 35 73 36| 694 57 |BiE BME L2 43 41 84 | 120 720 107 |pEm 48 42 9 | 16.8| 73.2
8 [1BAEF 40 45 85 | 15.6 | 69 4 58 |IumB M 39 45 84 | 120 | 720 108 At Fn3k 42 48 90 | 16.8| 732
9 [EE fAX 37 41 78 8.4 | 696 59 |BHE BN 46 50 9 | 24.0| 720 109 [t¥E HE 51 45 96 | 22.8| 732
10 |#@E =F 37 41 78 84| 69.6 60 [KRE FH 39 44 83 | 10.8 | 722 110 |(EEEE 35 36 71| 24| 734
11 B & 38 40 78 8.4 ] 696 61 |EEE &8 41 42 831 10.8| 722 1 [EER 40 37 77 36| 734
12 [1EEEF 49 47 96 | 26.4 | 69.6 62 |FB #E 46 49 95 | 22.8 | 722 112 |[EER 39 38 77 36| 734
13 |[B# &#B 42 41 83| 132 69.8 63 |BE A 37 39 76 36| 724 113 [@E A 39 38 T 36| 73.4
14 |3EE 34T 41 42 83| 13.2| 69.8 64 B iz 39 37 76 3.6 724 114 |EEE 4EF 38 39 77 36| 734
15 (LW R A 47 53 100 | 300 700 65 [ILA H=EB 41 41 82 9.6 | 724 115 |BREE A 43 40 83 9.6 | 73.4
16 |A)IEE) 37 38 75 48| 702 66 |=% BT 42 40 82 9.6 | 724 116 [&m 1@ 43 40 83 9.6 | 73.4
17 [1EE & 35 40 75 4.8 | 702 67 |4E HE 43 45 88 | 15.6 | 724 117 |AEthEiET 42 41 83 9.6 | 734
18 |fnE H# 40 41 81| 10.8| 702 68 |%EE F= 44 44 88 | 156 | 724 118 |BE Fx% 4 42 83 9.6 | 73.4
19 5134858 42 45 87 | 16.8| 70.2 69 [h: i 50 44 94 | 21.6 | 724 119 |tHa B 42 41 83 9.6 | 734
20 (A g 36 38 74 3.6 | 70.4 70 ZH F— 47 47 94 | 21.6 | 72.4 | 120 |#mAk =75 39 44 83 9.6 | 73.4
21 |EBEE E|fT 37 42 79 8.4 706 T | EEE 37 38 75 2.4 | 726 | 121 |[EBEE 41 42 83 9.6 | 734
22 | KRR 39 40 79 8.4 | 70.6 72 | BB 37 38 75 2.4 | 726 | 122 |miERE 38 45 83 9.6 | 734
23 (B = 36 43 79 8.4 70.6 73 |KuE 43 38 81 8.4 726 123 |BE ® 43 46 89 | 156 | 734
24 & FRig 45 46 91 | 20.4| 70.6 T4 |FER BF L3 43 38 81 8.4 | 726 124 Nt ME 44 45 89 | 15.6| 734
25 |HE RE 35 37 72 1.2 708 B |BE £EB 40 41 81 8.4 | 726 | 125 |tkEEE+ 52 43 95 | 21.6| 734
26 [BEEAN 41 37 78 7.2 708 76 |dbiBsEE 38 43 81 8.4 | 726 126 | T 4 47 48 95 | 21.6| 73.4
27 |=Lk#HA 42 42 84 | 13.2| 708 77 |Bhsk 28R 40 41 81 8.4 | 726 127 [= tE— 37 39 76 2.4 | 736
28 |AA —# 44 40 84 | 13.2| 70.8 78 |t ik 38 43 81 8.4 | 726 128 & == 42 40 82 8.4 | 736
29 (BEE 49 47 9 | 25.2 | 70.8 79 |E@EE 43 44 87 | 14.4 | 726 129 |/h#RE= 42 40 82 8.4 | 736
30 |=ihB A 37 40 77 6.0 71.0 80 |MAh ZHE— 39 48 87 | 14.4 | 726 130 |89 BEEF 43 39 82 8.4 | 73.6
31 [ERZE  fH3R 38 39 77 6.0 71.0 81 |he i 49 44 93 | 20.4 | 726 131 [EmEL 39 43 82 8.4 736
32 |#\E =A 40 49 89 | 180 71.0 82 |k H 47 46 93 | 20.4 | 726 132 |BEEA 41 41 82 8.4 | 73.6
33 |=B8FEH 37 39 76 4.8 T11.2 83 |tk IE{d 54 45 99 | 26.4 | 726 133 |[/AE s 41 41 82 8.4 736
34 |EF BT 45 43 88| 16.8| T71.2 84 |/N1I155 8 34 40 74 1.2 728 134 |#t bz 38 44 82 8.4 | 736
35 |EmEE=EE 40 48 88 | 16.8 | 71.2 85 |BsEETF L4431 41 39 80 7.2 7281 135 (@ #®= 44 44 88 | 14.4 1 736
36 | A A 38 37 75 36| 71.4 86 |KiIFZE 41 39 80 7.2 7281 136 | AR e 44 44 88 | 14.4| 73.6
37 |{EBEFEEH 46 4 87 | 156 | 71.4 87 | A3 37 43 80 .20 728 137 |[pRESR 42 46 88 | 14.4| 73.6
38 |#AL KBS 43 44 87 | 156 | 71.4 88 |EiBE— 37 43 80 7.2 728 138 |fISEEE 45 49 94 | 20.4| 73.6
39 |shEREs 41 46 87 | 15.6| 71.4 89 |tEE%x 44 42 86 | 13.2| 72.8| 139 |tk E— 49 45 94 | 20.4| T3.6
40 |mELE 42 45 87 | 15.6| 71.4 90 |f HF 48 44 92 | 19.2 | 728 140 |[Hm 1% 37 44 81 .2 | ‘738
41 |#1F 1@ 35 39 74 2.4 71.6 91 |4EABIF 43 55 98 | 252 728 141 [BE RE 49 38 87 | 13.2] 738
4 |2x BE 43 43 86 | 144 T71.6 92 |EEER L5431 48 50 98 | 25.2 | 728 142 |:EE BH— 42 45 87 | 132 738
43 @\ EHA 50 48 98 | 26.4 | 71.6 93 |ZME {288 36 43 79 6.0 730 143 |/NBEFT 46 41 87 | 13.2| 738
44 |1BE EH 39 40 79 7.2 71.8 94 |MmEEZ 43 42 85| 120 | 730 144 |@iEm EE 50 43 93 | 19.2| 73.8
45 |MF & 41 38 79 7.2 118 95 |Hm &= 43 42 85 | 120 | 73.0| 145 45 FEZ 50 43 93 | 19.2| 73.8
46 |lLA B 40 39 79 7.2 718 9 |AEH —== 41 50 91 | 18.0 | 7301 146 |2 Eth 40 53 93 | 19.2| 738
47 | KA S8 39 40 79 7.2 71.8 97 |BIELH 48 49 97 | 240 T30 147 |{mE —= 37 37 74 0.0 740
48 |M w®= 38 41 79 7.2 71.8 98 |{EREFIE 47 50 97 | 240 | 730 148 |&N %A 42 38 80 6.0 | 740
49 [IU& 41 40 45 85| 132 71.8 99 | AiE 50 47 97 | 240 | 730 149 |hE Hik 39 41 80 6.0 740
50 |/#HE= 44 41 85 | 132 71.8] 100 |A7% 1E®E 41 37 78 4.8 | 732 | 150 |5 &% 40 40 80 6.0 | 740
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7L —HB : 20245088108 ~ 20245088178 fELAR—IL 1.2.3.456.7.89 1.2.3.456.7.89
FEAR A TIANUT N—X2THw b ouT EE R I N RS
LEFRHD 5% 36 %% 36

g iz KE % 0uT [N | GROSS { HDCP NET || MEf: E 2 ouT IN GROSS | HDCP | NET [ M@f E % 0ut IN GROSS | HDCP NET

151 |BbEE 42 38 80 6.0 740 201 |78 Eig 47 47 94 | 19.2 | 748 251 [ EE 50 52 102 264 756
152 |#L FR3A 38 42 80 6.0 740 202 |[feEEx= 45 49 94 | 19.2 | 74.8| 252 |HMAk 1LFH 53 55 108 | 32.4| 756
153 |i&fE #Fk 44 42 86 | 120 | 740 203 |3+ H== 51 49 100 | 25.2| 74.8| 253 |B#8 @M% 52 56 108 | 32.4| 756
154 (FPiREEZ 45 41 86 | 12.0 | 740 204 (#E A 51 55 106 | 31.2| 74.8| 254 |HEEF 53 55 108 | 32.4| 756
155 |=0 =g 41 45 86 | 120 74010 205 |/t FEH 46 4 87 | 1220 | 750 | 255 [#A RR3A 41 42 83 7.2 758
156 |fE@E FHAk 42 44 86 | 12.0 | 740 206 |ZmEiEH 46 41 87 | 12.0| 75.0| 256 |#iaH—ER 44 45 89 | 13.2| 758
157 [{BE  Fil 40 46 86| 120 | 740 207 |ZmE Tk 43 44 87 | 120 | 750 257 |kEth fEsk 47 42 89 | 13.2| 758
158 | AIET 44 48 92 [ 18.0| 740 208 |=% F/A 43 44 87 | 1220 | 750 258 (¥l fith 50 45 95 | 19.2| 758
159 | ILThiE 39 34 73 12| 142 209 (B gk 44 43 87 | 120 | 750 259 |MBEZ 51 44 95 | 19.2| 758
160 |¥EM # 40 39 79 4.8 | 742 210 |@k = 50 43 93 | 18.0 | 750 260 |{HEB— 50 51 101 | 252 758
161 |REFEX 39 40 79 4.8 7421 21 |EmE= 44 49 93 | 18.0 | 750 261 [HET muE 43 39 82 6.0 76.0
162 | 1L 39 40 79 4.8 | 742 | 212 |[iEHEE 46 47 93 [ 18.0| 750 262 |&EE fmiL 43 45 88| 120 760
163 |AR#ATEA 41 44 85| 10.8 | 742 213 [NE &R 44 49 93 | 18.0| 750 | 263 |[EEER 45 49 94 | 18.0| 76.0
164 |HEIEIRE 37 48 85| 10.8| 742 214 |54 588 50 55 105 | 30.0| 750/ 264 |\WFEHE 46 48 94 | 18.0| 76.0
165 |BREmF 48 43 91 | 16.8 | 742 | 215 |[4L 4T 36 38 T4 | -1.2| 752 265 |Em ®Z 48 52 100 | 240 76.0
166 |kPEZsiEE 48 49 97 | 22.8 | 7142 216 |=BFEE 39 41 80 48| 752 266 |=+ MEF 52 54 106 | 30.0| 760
167 | 51 46 97 | 22.8 | 742 217 |AL wEA 44 42 86 | 10.8| 752 267 |5 ER 43 44 87 | 10.8 | 76.2
168 |tRA $i— 51 52 03| 28.8| 742 218 |B# #Rig 42 50 92 | 16.8 | 752 268 |mm B2 40 47 87 | 10.8| 76.2
169 [;EfE #R% 38 40 78 3.6 | 744 219 |HLE = 43 49 92 | 16.8 | 75.2| 269 |BA& = 44 43 87 | 10.8| 762
170 | KA 39 39 78 3.6 | 744 220 |[#aA{+—ER 41 51 92 | 16.8 | 75.2| 270 |k ME 44 49 93 | 16.8 | 76.2
171 2@ & 42 42 84 9.6 | 1441 221 |Hm #E 45 47 92| 6.8 752 271 [goE @ 43 50 93| 16.8| 76.2
172 (AR 46 44 90 | 156 | 744 222 |2mEmE 46 46 92 | 16.8 | 75 2| 272 R == 45 48 93 | 16.8| 76.2
173 |ILsiBsE 49 41 90 | 15.6 | 74.4| 223 |iBue &% 52 46 98 | 22.8| 75.2| 273 |BmiE &= 46 47 93| 16.8| 762
174 |#FE  FHIE 48 48 96 | 21.6 | 744 224 |FE g 45 53 98 | 22.8 | 75.2| 214 |miEBR 3= 45 48 93 | 16.8 | 762
175 |4t =SB 48 48 96 | 21.6 | 744 225 |BE it 44 4 85 9.6 | 754 | 275 |EE*xS 52 47 99 | 22.8| 76.2
176 |FEk =X 49 47 96 | 21.6 | 74.4| 226 |Fm == 40 45 85 9.6 | 754 276 |®EE = 48 51 99 | 22.8| 762
177 | &2 3k 48 48 9 | 21.6 | 74.4| 227 R E— 40 45 85 9.6 | 754 217 |BEA HE 45 54 99 | 22.8| 762
178 |FEE= 40 43 83 8.4 | 746 228 |&A #®BAH 45 46 91 15.6 | 75.4 | 278 | = 48 57 105 | 28.8| 76.2
179 |#8HE=ER 42 41 83 8.4 | 746 229 |Mzk iR 49 42 91 15.6 | 75.4 | 279 |#@ExE 39 41 80 36| 76.4
180 |4+ = 45 44 89 | 144 | 746 230 |BHE EE 43 48 91 | 156 | 754 280 |kEEZZ 43 43 86 9.6 | 764
181 [#AZ4T—ER 43 46 89 | 14.4 | 746 231 |mE¥KHE 47 44 91 156 | 754 281 [=iRE @s 47 39 86 9.6 | 764
182 [WHMREE= 46 43 89 | 14.4| 746 232 |EE AE 50 47 97 | 21.6 | 754 | 282 |h#kEE= 40 46 86 9.6 | 764
183 |PIBETE R 47 42 89 | 144 | 746 233 |=4& = 41 56 97 | 21.6 | 754 283 |mEsiEt 43 49 92 | 15.6| 76.4
184 |®E 18 43 46 89 | 144 | 746 234 |myiE mB= 52 51 103 | 27.6| 754 284 |ZAz= 54 44 98 | 21.6| 76.4
185 |HAEF 42 47 89 | 14.4| 746 235 |&@ #mz 37 41 78 24| 75.6| 285 [MEmETF 46 52 98 | 21.6| 76.4
186 |B1B &£ 42 47 89 | 14.4| 746 | 236 |KE B 41 43 84 8.4 | 756 | 286 |imkyuis 48 50 98 | 21.6| 76.4
187 |{EAFEH 48 47 95 | 20.4 | 746 | 237 |ER#EE 42 42 84 8.4 | 756 | 287 |FH 49 55 04| 27.6| 764
188 |% 1T 44 51 95 | 20.4 | 746 238 |Em=iz:m 43 41 84 8.4 | 756 | 288 |HpHE 38 41 79 24| 766
189 |HE ¥E— 50 51 101 26.4| 746 239 [H+t =% 48 42 90 | 14.4 | 756 | 289 |iEHh EWHE 42 43 85 8.4 | 766
190 |#&)IIK— 38 38 76 1.2 748 240 |+ = 45 45 90 | 14.4 | 756 290 |Ep 3 43 42 85 8.4 | 76.6
191 |2)I%&4E 37 39 76 1.2 748 241 |28 F& 41 49 90 | 14.4| 756 291 |[BE =@ 47 44 91 4.4 76.6
192 |/\#hEE= 41 41 82 7.2 | 748 242 [1BAEE 44 46 90 | 144 | 756 292 |=Rp =% 44 47 91 14.4 | 76.6
193 |$fAsaR 41 4 82 7.2 | 748 243 [{RERER 41 49 90 | 144 | 756 293 |BABF 47 50 97 | 20.4| 76.6
194 |EEMEZ 40 42 82 7.2 748 244 |mEiE 44 46 90 | 144 756 294 |BEE f2se 41 56 97 | 20.4| 76.6
195 | 588 & 47 41 88 | 13.2 | 748 245 |EE % 49 47 9 | 20.4 | 7561 295 |=Fm —ER 49 48 97 | 20.4 | 76.6
196 (Il %7 AER 42 46 88 | 13.2 | 748 246 |41 HE—ER 47 49 96 | 20.4| 756 296 |FiRig= 36 48 84 7.2| 76.8
197 |FB &— 44 44 88 | 13.2 | 748 247 [iEEE 47 49 96 | 20.4 | 756 | 297 [HO Ki# 43 41 84 7.2 768
198 |BH 1 44 44 88 | 13.2 | 74.8/( 248 |\LtR2LET 49 47 96 | 20.4 | 756 298 [#B& At 45 45 90 | 13.2| 76.8
199 |&m 1E— 48 46 94 | 19.2 | 748 249 |mEER 51 45 96 | 20.4 | 756 299 [®EmM ®= 43 47 90 | 132 76.8
200 |+tEBEx 45 49 94 | 19.2 | 748 250 |=@EE— 50 46 9 | 20.4 | 756 300 |=F ®BR 44 52 96 | 19.2 | 76.8
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Bikchy U =057

FL—A : 20245088108 ~ 20245088178 ELAR—IL 1.2.3.4.5.6.7.8.0. 1.2.3.4.5.6.7.8.9.
AR YTNRUT K—X2THY b oL T P I T T I N ¥ %% % %%
FBRHD B 36 i 36

IE 431 E % ouT [N GROSS | HDCP | NET [ MEf: E_ %2 0uT IN GROSS | HDCP NET || JEfE E % Ut IN GROSS | HDCP | NET

301 (47 E3LR 43 53 9 | 19.2 | 76.8( 351 (kAR =B 47 49 9 | 18.0| 780 401 X =B 51 46 97 | 180 79.0
302 e & 59 49 108 | 31.2| 76.8( 352 |[%k R— 52 44 9 | 18.0 | 78.0| 402 [BmE FHK 48 49 97 | 18.0| 79.0
303 |9RER AW 55 53 108 | 31.2| 76.8( 353 [luFE=AE 55 47 102 | 2401 780 403 [#B&BIF 44 53 97 | 18.0 | 79.0
304 | AXEEA 41 36 i 0.0 | 77.0| 354 [0 8= 54 48 102 | 240 780 404 |[AEZEA 50 53 03| 240 79.0
305 |(S@ %=— 39 44 83 6.0 | 77.0 | 355 [ KT 53 49 102 | 240 780 405 |%% =B 55 48 03| 240 79.0
306 |&E —A 37 46 83 6.0 | 77.0( 356 |[{(kEETF 46 56 102 | 240 780 406 | kM 4% 48 55 03| 240 79.0
307 LRt 48 41 89 | 12.0| 77.0| 357 |k Eth 51 51 102 | 240 780 407 |LE=HS 54 49 03| 240 790
308 |BH BA 46 43 89 | 120 77.0( 358 |H4E Lo 51 57 108 | 30.0| 780 408 |%i5 BR{- 52 51 03| 240 79.0
309 |/hEpEF 46 49 95 | 18.0 | 77.0| 359 |{kEE & 42 41 83 4.8 | 782 409 |mEm & 50 53 03] 240 790
310 |5 R 44 51 95 | 18.0 | 77.0 [ 360 |Kux 46 43 89 | 10.8 | 782 410 [BX HE 46 44 90 | 10.8 | 79.2
3N |MTE =R 51 50 01 240 77.0( 361 (=@ =% 43 46 89 | 108 782 411 |E=RA 43 47 90 | 10.8] 79.2
312 |EEEBE= 51 50 101 240 770 362 |HLE #— 44 45 89 | 10.8| 78 2| 412 |M%H M@= 48 48 9 | 16.8| 79.2
313 [B0 #E 51 50 01| 240 77.0( 363 |[#1% HEiT 44 45 89 | 10.8| 782 413 4BERTE 52 44 9 | 16.8| 79.2
314 | KHBEA 45 56 101 240 77.0| 364 |#@ =& 46 49 95 | 16.8 | 782 | 414 |k BE= 55 53 08| 28.8| 792
315 (M =% 50 57 107 | 30.0| 77.0| 365 |MME#EE 42 53 95 | 16.8 | 782 | 415 |EM 180 49 40 89 9.6 | 79.4
316 |FiFE= 53 54 107 | 30.0| 77.0 366 |ZmfEA 49 46 95 | 16.8 | 782 416 [BER IEfE 46 49 95 | 156 | 794
317 |BIEER 43 39 82 4.8 | 77.2| 367 | KA =T 50 51 01| 228 782 417 |%F = 49 46 95 | 15.6| 79.4
318 |HIlL FE—ER 41 41 82 4.8 | 77.2 | 368 |ILAEE 38 44 82 3.6 | 78.4 | 418 [ME KX 47 54 101 21.6| 79.4
319 |58 & 47 41 88 | 10.8 | 77.2| 369 |Z)EE 47 47 94 | 156 | 78.4| 419 [BiEES 50 51 101 21.6| 79.4
320 |[ER8 E® 44 44 88 | 10.8 | 77.2| 370 |Bwy B 44 50 94 | 15.6 | 784 | 420 |fELEBE 54 53 107 | 27.6] 79.4
321 |hiE B 42 46 88 | 10.8| 172 31 [E mE 46 48 94 | 156 | 784 421 |BE mE 43 45 88 8.4 796
322 |EEH Ih 52 42 94 | 16.8 | TT.2 | 372 |[nE @B 48 46 94 | 15.6 | 784 | 422 |BEEH NE= 45 43 88 84| T79.6
323 |EBXE 47 47 94 | 16.8 | 77.2 || 373 |[tkEE B 49 51 100 | 21.6| 784 423 [tk EHZF 38 50 88 84| 79.6
324 |HeH E 54 52 106 | 28.8| 77.2| 374 BB =AY 46 54 100 | 21.6| 784 | 424 |“hex F& 47 47 94 | 14.4| 79.6
325 | Kt #AE 55 51 106 | 28.8| 77.2| 375 |@m % 51 49 100 | 21.6 | 784 425 |[BEH @GL 47 47 94 | 14.4| 79.6
326 |FRA E 52 54 106 | 28.8| 77.2| 376 |[kEsE 51 49 100 | 21.6 | 784 | 426 [#L &R 48 52 00| 204 79.6
327 | BERERE 47 46 93 | 15.6 | 77.4| 377 |m& EZ 49 51 100 | 21.6| 784 | 427 |tk&x FEZE 49 51 100 | 20.4| 79.6
328 |Hm K 46 47 93 | 15.6 | 77.4 | 378 |L#MmiT 53 53 106 | 27.6 | 78.4| 428 |BEEB A& 44 49 93 | 13.2| 79.8
329 |1fE =i 47 52 99 | 21.6 | 77.4| 379 |2@E ZHE 39 48 87 8.4 | 786 | 429 |EM = 50 49 99 | 19.2 | 79.8
330 |FEEZ 48 51 99 | 21.6 | 7r.4 380 |EE #A& 51 42 93 | 144 | 78.6( 430 [#&1 B 55 56 111 312 798
331 |4k BEX 49 50 99 | 21.6 | 7.4 381 [kEE XH® 46 47 93 | 14.4 | 78.6 431 |[Bm =i 42 50 92 [ 120 800
332 |Hle FiA 49 50 99 | 21.6 | 7.4 382 |[¥m & 44 49 93 | 144 | 78.6| 432 |tk = 41 57 98 | 18.0 | 80.0
333 |FL Bk 48 51 99 | 21.6 | 7.4 383 |Em T 43 50 93 | 14.4 | 786 | 433 [BEE K 52 46 98 | 18.0| 80.0
334 WA 8534 48 57 105 | 27.6 | 77.4 | 384 |BEN i 50 49 99 | 20.4 | 786 | 434 [BLEE 51 53 104 | 240 80.0
335 |BEAESER 50 55 05| 271.6 | 77.4| 385 |&iEB #H4 47 52 99 | 20.4 | 786 | 435 |EEE FAKER 50 54 104 | 240 80.0
336 |HIE  E— 40 46 86 8.4 | 77.6| 386 |HER x= 48 57 105 | 26.4| 786 436 |[B#x I 55 55 110 | 30.0| 80.0
337 |#K  BA 46 46 92 | 14.4| 77.6| 387 |dmE EF 45 60 105 | 26.4| 786 437 |8 =7 50 47 97 | 16.8 | 80.2
338 |REIL = 49 43 92 | 14.4| 77.6 | 388 |FEHREE 41 39 80 1.2 | 788 | 438 [#L KB 55 48 103 | 22.8| 80.2
339 |=EER) 48 44 92 | 14.4| 77.6 389 |BD #wz 45 41 86 7.2 | 78.8| 439 |[EEE FF 51 58 09| 28.8| 802
340 |BHAIETH 48 44 92 | 14.4| 77.6] 390 |t®Hy B 42 44 86 7.2 | 78.8 | 440 |Ft+iE BE 51 58 109 | 28.8 | 80.2
341 | FHIER 43 49 92 | 144 17.6]| 391 |EHE BEx 48 50 98 | 19.2| 788 | 441 |[FE H— 60 55 115 | 34.8 | 80.2
342 (ILAE BN 50 48 98 | 20.4 | T7.6( 392 |mE th 48 50 98 | 19.2 | 78.8 | 442 |= HE 49 53 102 | 21.6| 804
343 |RATESE 52 52 104 | 26.4| 77.6| 393 |@+& 4 53 45 98 | 19.2 | 788 | 443 |hE = 60 54 114 | 33.6| 804
344 (luAE X 49 55 104 | 26.4 | 77.6( 394 |iE:& i 51 47 98 | 19.2 | 78.8 | 444 |BEE ERER 58 56 114 | 336 80.4
345 |2 BR 46 51 97 | 19.2 | 77.8 | 395 |tREA —iF 51 47 98 | 19.2 | 788 | 445 1B K= 49 52 101 | 20.4| 80.6
346 [WEEE 51 52 03| 25.2| 77.8( 396 |k % 46 52 98 | 19.2 | 788 | 446 |[#A7E BEAER 51 50 01| 20.4| 80.6
347 | EiEER 52 51 03| 265.2| 77.8| 397 |@M& = 59 51 10| 31.2| 788/ 447 [*kER= 53 54 107 | 26.4| 80.6
348 |BRER 1@ 54 55 109 | 31.2| 77.8( 398 |i5hEZR 56 54 110 | 31.2 | 788 | 448 |2AHHT 45 43 88 7.2 80.8
349 |EEm 5 42 42 84| 60| 780 399 &% BiI 42 43 85 | 6.0 | 79.0 | 449 |whiy ZiA 52 48 | 100 | 19.2) 80.8
350 | KIHE 42 42 84 6.0 | 78.0 [ 400 |y WX 54 43 97 | 18.0 | 79.0 [ 450 |trxEExE 56 43 99 | 18.0] 810
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7L —B 20245088108 ~ 2024088178 BELAR—)L 1.2.3.4.5.6.7.8.9. 1.2.3.45.6.7.89
BEEAR Y TNRUT N—X2THwv b ouT £ % k% % % N ¥ % % % % %
LBRHD B 36 =t 36

[Eivs K £ ouT [N GROSS HDCP NET g iz K % OuT IN GROSS HDCP NET J[ELiva K e out [N GROSS HDCP NET
451 |BEARESER 50 55 105 24. 0 1.0 || 501 [/h#k 32FI 59 67 126 36. 0 90. 0
452 |¥H BEwR 54 63 117 36.0 81.0 502 |gIE EF 65 61 126 36.0 90. 0
453 |thil) REE 50 47 97 15. 6 81. 4 503 [#27% REXER 60 67 127 36.0 91.0
454 |B5T FA 46 51 97 15.6 81.4 || 504 [/ fEX 57 70 127 36.0 91. 0
455 |HRiE T 59 50 109 27. 6 81. 4 505 [+ BA 69 63 132 36.0 96. 0
456 |BAK ZHEEA 58 57 115 33.6 81. 4 || 506 |A:BRF 68 67 135 36. 0 99. 0
457 |BKE 45 51 96 14. 4 81. 6 507 |/l 1 79 65 144 36.0 | 108.0
458 |BER B4R 50 52 102 20. 4 81.6 508 |[R&EN EH 80 82 162 36.0 ] 126.0
459 |¥5ARIF) 55 47 102 20. 4 81.6

460 |#1.E fBA 52 56 108 26. 4 81.6

461 (BE)Il FE—EP a7 b4 101 19.2 81. 8

462 |Hed BT 54 53 107 | 25.2 81.8

463 |EH = h? 55 107 25. 2 81. 8

464 |F)ll #7) 51 55 106 | 24.0 82. 0

465 |ERRE #H= h8 54 112 30.0 82.0

466 |HH St 60 58 118 36.0 82. 0

467 |HA E=— 55 56 11 28. 8 82. 2

468 |EiEETT 47 51 98 15. 6 82. 4

469 |FE fEN 47 51 98 15. 6 82. 4

470 |HH {E—EF 55 61 116 33.6 82. 4

471 |BiE 47 56 103 20. 4 82. 6

472 =15 &l 55 60 115 32. 4 82. 6

473 |IKPEREE 51 45 96 13.2 82. 8

474 |BEE BE#R 45 44 89 6.0 83. 0

475 |BAK R 56 57 113 30. 0 83. 0

476 (fEA =5k 46 48 94 10. 8 83. 2

477 |BF BC 51 60 111 27.6 83. 4

478 Bl oK 63 54 117 33.6 83. 4

479 |FE #A 51 52 103 19.2 83. 8

480 |{RrRAER 51 52 103 19.2 83. 8

481 |ARF H— 46 56 102 18.0 84.0

482 (TN HEEE 58 56 114 30.0 84. 0

483 |RHEE 62 57 119 34. 8 84. 2

484 |MAK  BEKER 66 45 11 26. 4 84. 6

485 |85 KR BX 52 58 110 25,2 84. 8

486 ;A 1E— 47 69 116 3.2 84. 8

487 |BWS EF 50 53 103 18.0 85.0

488 |[EIE = 63 58 121 36.0 85.0

489 |BFEH 154 51 57 108 22. 8 85. 2

490 (BE FX 54 52 106 20. 4 85. 6

491 |FEHFEA 59 57 116 30.0 86. 0

492 |&AR ZBR 64 58 122 36.0 86. 0

493 |=8 HEE 64 58 122 36. 0 86. 0

494 /NH EF 67 52 119 32. 4 86. 6

495 (££F IEFN 63 60 123 36. 0 87. 0

496 (A% TEHH 62 61 123 36. 0 87.0

497 [/ BBt 59 64 123 36. 0 87. 0

498 |)IlF 1788 64 58 122 33.6 88. 4

499 |5iE #H*k 66 60 126 36.0 90. 0

500 |ZM@E FRiE 71 55 126 | 36.0 90. 0




